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l. WL BAT 0T NN (SGrBs) FOLORAT 83 FTINT JELTNTI)Y
200, FSNT OST08 TePFNLD BOOIPNZ 0T FENT eﬁoﬁ%ﬁ@od TS
(Read the following statements related to the Sovereign Green Bonds
(SGrBs). Which of the following statements are CORRECT?)

1) BT L0 DWW WO LTIOIRNT, T0RRI-FOLORT BT
TOFT A8RERINIT), B0WITLD WOBTIRT, FONLILL VSOIRMTT (A
green bond is a debt security that is issued to raise capital to support

climate-related or environmental projects)

2) TORT CIREBINYT BOTSQONETI), FONLALD AFFTHOT SGB NEy
asaxmmgd. (SGBs are issued by government to raise resources for

environmental projects.)

3) $P0ETY, Feor 2228 2022-23 SGrB &), FeeaR@ed0. (In India, the

Union Budget 2022-23 announced the issue of SGrBs.)
a) 1 only Correct
b) 1 & 2 Correct

c) 1 & 3 Correct

d) All the above are correct



2. {O0BT QVOFS §e§§ JNEFOFTITE VOFIT BOONT FRTON
(N 3R 3Q) 9T TIHTY VTSN, FOCIPT YVITBIZY, THTVER.
(¥3ReT* 2023 To8) (Identify the correct answer related to Renewable

Energy Contribution (Giga Watt) by sector in India mentioned in

descending order. (As on October 2023)

a) WTT ROLFT’, FVTIY, BRT 38, 0% OFS (Large Hydro Power,

Solar Power, Wind Power, Biomass)

b) FTJg, T RO, TIT 33, BT ROPT (Solar Power, Large

Hydro Power, Wind Power, Biomass)

c) APTIE, TIITY, W TS BWOIWE, KT QOFS (Solar Power, Wind

Power, Large Hydro Power, Biomass)

d) TS T8, FPT3E, z@e@ﬁ QOBT, WTT wOLWE (Wind Power, Solar

Power, Biomass, Large Hydro Power)

3. éozjscﬁ @%03 TLPO TRNT IPOROTD @%%mﬁd&@d&, (Which of the

following is known as the most expensive breed of cattle in the world,)
a) Holstein Friesian
b) Jersey Breed

c) Deoni Breed

d) Nellor Breed



4. 2024 T 30F 3T SRUCHT WATIROT 0T SCIRNT VFIFL,
(Chairman of Karnataka Regional Imbalance Redressal Commission 2024
18)

a) Dr. M Govinda Rao

b) C Narayana Swamy

c) Prof M V Rajiv Gowda

d) K Sudhakar Rao

5. ¢T3TY 3 Hew 3OWFT ;o—"@@a% @GOC‘S)ﬁ%ﬂ?}D& TTTORARMITIT.
FINTRYNYY oI O3 evZTeNY? (There are 3 semiconductor
facilities centre will be started in India. Which one of the following is NOT

CORRECT?)

a) Morigoan in Assam

b) Tumkur in Karnataka
c¢) Sanand in Gujrat

d) Dholera in Gujrat

6. NBTRT JoNOET F0HLB0L DOTT B3 FINT 03T JEYFTOIN FOCINY?
(Which of the following statements about Uniform Civil Code is NOT

CORRECT?)



a) QWT W7} FOLTIT 44 Je HONY TARTRE. (This is mentioned in

Article 44 of the Constitution.)

b) BReDFNCRO0T md@ogé TRT 11ReD ToR Y 1961 DOTOR DTTRT
NOEE WOWIONT), ¥FOFGRET. (Uniform Civil Code has been

followed since 1961 in Goa after independence from Portuguese.)

C) YVZTRAOT TLye) TSN FTRIT TFT DFTRT ToN0OET
H030IONT), 0N TOT [RTO Uaa%mﬁd. (The state of Uttarakhand was

the first state to implement Uniform Civil Code under Indian law.)

d) FCRT TNOE HoICkw, T°TTY SWTR aoﬁg—2019§ TRTTRNG.
(Uniform Civil Code, supplemented by Citizenship Amendment Act-
2019)

7. (0TI BRTO TODT OO, 08RE TEBY BFwFd Mmm OTT
e3TORIONT? (As a first attempt in India, which state has launched a

state—owned OTT?)

a) Karnataka

b) Kerala

c) Maharashtra

d) Telangana



8. FINTPYNYY 030D NIT TUO QTP @éoa@ e3NZ3? (Which one of

the following is world’s strongest insurance brand?)
a) Life Insurance Corporation, India

b) Ping an Insurance, China

c) American International Group, USA

d) Allianz Insurance, Germany

9. “OoRINTG )T NP 0PI, LPOTITT RRTO BodRe-T0Edee® ﬁe}w‘ QOTR
RANTBRTONT. QT 85 UOZ%CSQCS? (Ramagarh Crater is designated as

India’s first geo-heritage site. It is located in,)
a) Karnataka

b) Rajasthan

c) Madhya Pradesh

d) Jharkhand

10. SPI=D @&35@% XL 2023-24 T TTT, 3033 @&3%% RRBOFTY
5003 3eed, (As per Human Development Report 2023-24, India’s rank in

HDI is,)

a) 131



b) 132
¢) 133

d) 134

1. Az FOODT VBT AWT WD WERISNT (The Service

Area Approach was implemented under the purview of)

a) AWM, NYeNCED @3{1)6306% 3000F30  (Integrated Rural Development

Programme)

b) ez 005 cieews (Lead Bank Scheme)

c) WTOZ MOOH TOXREOD TRNEEd WTRENR 330 cdeews (Mahatma

Gandhi National Rural Employment Guarantee Scheme)

d) TR0 '@5% Q.%DSQC% QT (National Skill Development Mission)

12. 3NIPYNYY 3P 5033 msé?a% eROTI FWNTY FeOZLRNY?

o oM *

(Which of the following is not included in the assets of a commercial bank

in India?)

a) WOONTENK (Advances)
b) Seedned (Deposits)

¢) ®REFND (Investments)

d) 33 &) By BRWIONY Ied (Money at call and short notice)

jan)



13. 2RT3ROT S m@a@%mw T RAODNYY, 3YT VT BRFNTY
BPOT FROWOT &8 FINTIZYNTY 0IR[P WFHT STOTVNTTY, BROVT?
Among the agricultural commodities imported by India, which one of the
following accounts for the highest imports in terms of value in the last five

years?
a) FBND (Spices)
b) T Tensd (Fresh fruits)

¢) eszshnsd (Pulses)

d) R, SEgnsd (Vegetable oils)

14. 85 FINTPNYY OIRPT TS0 TRITOWCH DATBIY 3TIODN
[FOET /ST R0 éﬁdb&@%%ﬁ TR0 BoNE? (Which one of the following
is not the most likely measure the Government/RBI takes to stop the slide

of Indian rupee?)

a) VAONFIYT ATBRNG SVTVNTTY, SHOVZYTD 3B TINYY
ZeeRYD  (Curbing imports of non-essential goods and promoting

exports)

b) TRITWOW BRSO RO L0 NFRY VEBLY ZRTSOD TOTOTTIY
VZe3ARYD (Encouraging Indian borrowers to issue rupee denominated

Masala Bonds)



) T WO AVF TOWOHAT RTINS RN  (Easing

conditions relating to external commercial borrowing)

d) QIO TOTD ReSCBT, WROBOWRYT (Following an expansionary

monetary policy)

15. 8QFEE0NYT Teem MHeesy) 838 IYNT 0IRPTTY ézsgmgd? (The

money multiplier in an economy increases with which one of the following?)

a) IR WEFL VPTPITY HeF¢ (Increase in the cash reserve ratio)

b) =FET wPyoson® WRATY o%?é%ﬁ (Increase in the banking habit of

the population)
c) mﬁﬁ&)% Cj)?%é ONTTZY éag@é (Increase in the statutory liquidity ratio)

d) 3e3T 835509%033@ ézzs;%ﬂ (Increase in the population of the country)

16. 33 FYNT CIPRYTT FOTLFTY e O "WOoUT LT, D TJn
WY TATL T D00 ITNYY BWOONY weadded? (In the context of
which of the following do you sometimes find the terms ’amber box, blue

box and green box’ in the news?)
a) WTO mmzeons (WTO affairs)
b) TTE BXTTNE (SAARC affairs)

¢) UNFCCC eszmetnsd (UNFCCC affairs)



d) QTR OB gRTS-Q03N ®FSNL (India-EU negotiations on FTA)

17. 2016 TQ, 83 FLNT 0350 588371%35301 IMF 3 SDR & et Ze03enna?
(In 2016, which one of the following currencies has been added to the

basketof IMF’s SDR?)

a) SRWS (Rouble)

b) oooz® (Rand)

) 08D TRCW (Indian Rupee)

d) 856‘&)3?% (Renminbi)

18. Jpoxs oG =Ty ABees B3 MOCRTY TeoHT (Pradhan Mantri

MUDRA Yojana is aimed at)

a) T LVTRNTRY, TTeR0T Teomm [WAN Y (bringing the small
entrepreneurs into formal financial system)

b) QOFF, BINYRY BPoDL WE GO OB/, WBNAF (providing

loans to poor farmers for cultivating particular crops)

c) %d@d& B ANFEFON &ozssa‘”ﬁ@mol TN (providing pensions to

old and destitute persons)



d) 53¢, @&35@% WY YVTREN FROD ZeRITY SPTNTVET ORI
ﬁoféﬁ@?ﬁ P3IRZ0D (funding the voluntary organizations involved in the

promotion of skill development and employment generation)

19. Znds TR mwéo% BTLODIY @i‘mé?j@d e IFPRI 20930
RRIB/BRIINAD 85 FINIYNYY 03weyc0? (Which of the following is/are

the indicator/indicators used by IFPRI to compute the Global Hunger Index

Report?)

l. 388 (Undernourishment)
2. W3¢ 2008 (Child stunting)
3.508¢ 3Teo (Child mortality)

TENT TR LIV FOIRT YVITZI) @oﬁ%m@(Select the correct answer

using the code given below)
a) 1 only
b) 2 and 3 only

¢)1,2 and 3

d) 1 and 3 only



20. 3RI TOIREWT W) COPTRONT  BSONT), (AT BTR) 0IPOOT
ONRRCQVTOONT (The Fair and Remunerative Price (FRP) of sugarcane is

approved by the)

a) SRFT FTTOONY FYNEF T (Cabinet Committee on Economic

Affairs)

b) B SPned =) BSNY wodeen (Commission for Agricultural Costs

and Prices)

C) SRTFLWON" B TTWATH ATIEF TIDOON, Fdu AWIOOOD (Directorate of

Marketing and Inspection, Ministry of Agriculture)

d) g oo, [T BS (Agricultural Produce Marketing Committee)

21. ¢RTITY B TS @35@&? (What is the position of the Right to

Property in India?)

a) DoNnO3ONR KT (Legal right available to citizens only)

b) cxPie FIR VP IDHE TR T8y (Legal right available to any
person)

c) TONOFON BT, VLINT Bowwied BF), (Fundamental Right available

to citizens only)

d) [ROLHR3 55% OO TOIRR 53% ©Q (Neither fundamental Right nor

legal right)



22. %3RO 26, 1950 TOW L0T3BT ADTH0T TOONTONT m@ﬁa‘ms OSRRYNY

(What was the exact constitutional status of India on 26th January, 19509)
a) @mﬂ@é@% 7'18@60&% (A Democratic Republic)
b) TTELIOTH @mﬁagééa’ macaz:s (A Sovereign Democratic Republic)

C) ROBEERT Y3 ToITYYF  7eovezg (A Sovereign  Secular

Democratic Republic)

d) TOTEEPT FRPHTO ANVT BRWILWT 0TYF (A Sovereign Socialist

Secular Democratic Republic)

23. TFWOITT STRTT w08 SRETFLOD RTARO ORZ/EIN ROWORAT
O3YTIE BN, 9WOOT JPFOFLRMZL: (Any question pertaining to
the disqualification of a member of the Lok Sabha on the ground of defection

is decided by:)

a) 0BT @Zﬁgda (The Preside of India)

b) Sresmdod 08 (The Speaker of the Lok Sabha)
c) ¢RTBT Ao deeeFs (The Supreme Court of India)

d) FoworTey Teessecd ©F (The concerned Political Party)



24. 359ANTIT BT, GP0TT FONTRIT O3 HOD BRODY SERCONTI?
(Right to Privacy’ is protected under which Article of the constitution of

India?)

e a) Article 15
® b) Article 19

® ¢) Article 21
e d) Article 29

25. Uaz%mjofm SReBHLHCIRODN O3PE DRODTY AT WHTTIIY

BROAOT (Rajya Sabha has equal powers with Lok Sabha in)

a) BRF VDO FPTZ JEXSNTI), TS VFOD (the matter of creating new

All India Services)
b) BoRTRRERY, TR [eridd (amending the Constitution)
C) RFFTII), SNTVTORR (the removal of the government)

d) BeF BOBRII, [RWFI (making cut motions)

26. PUUBTY, FOOIREONLOT méommamol WeTFRTD TROT
3T3ed2TVPYT (In India, separation of judiciary from the executive is

enjoined by)

a) BONTOIT WedF (the Preamble of the Constitution)



b) Te; QeS0T JBee 3T 2g (a Directive Principle of State Policy)

c) N¥Se Bewnmed (the Seventh Schedule)

d) F0TTR0eNT WA (the conventional practice)

27. $P08T FOWTRIT AT RNy IUYED ToD SWIF WY TRCATTTI?
(Which part of the Constitution of India declares the ideal of a Welfare

State?)

a) oo QeSO JTee3T 3%71@;3 (Directive Principles of State Policy)
b) SRoPEHRT BN (Fundamental Rights)

¢) WG (Preamble)

d) Q¥Se [ewosted (Seventh Schedule)

28. 0TS0 TPTT WRDLRT BN 20edS o0y QWFOTNTRY QAT
9OTC QLONT (The power to impose reasonable restrictions on the

fundamental rights of Indian citizens’ rests with)
a) ﬁfyaes-‘zséj 99,03003 (The Supreme Court)
b) Box=y (The Parliament)

c) SRR ngda (The President)

d) 20edT o3t ©Q (None of the Above)



29. TQWT  BH, WH  FZoDes mﬁo@s (21 TOYET) 90
QTSRFNRHNZT. (The scope of right to life and personal liberty (Article

21) includes)

a) LRSS &3, (Right to Bonus)

b) VI=H e:s&racz%d w8y, (Right to Good health)
¢) ®R0D T, (Right to Housing)

d) 3oRT T3, (Right to Work)

30. BRTO  HOWPT  B[AF  SdenNIy 1953 TY  9ET eﬁqsgéodag
30BN (The first Backward Class commission was appointed in 1953

under the chairmanship of)
a) QeIT woedeey (Deepak Katole)
b) 7.3, 0oRF0oES (S.K.Kharventhan)

c) T %66&%6‘ (Kaka Kalelkar)

d) BT - -BXPT W0 (Shakeel-uz-Zaman Ansari)

31. 2011 T =INE2SCH TFoT Foorwdw WTF Jon VTS 3y? (What

is Karnataka child Sex Ratio according to 2011 census?)

a) 973



b) 943

c) 948

d) 918

32. 3YNT O3 FOFOID TR THEITY  MREED  TWIROAYTORE
TOORFBRONTTY, VTIPSR YRFT? (Which of the following institution

has implementing rural infrastructure programs in rural area?)

a) TOOFEIT TO0CHD THRVOEPTORE @2{)5@% AN AeRWE (Karnataka

Rural infrastructure development Corporation limited)

b) FeoT TRadere TROAPTONE WRFH AN 0D (Central rural

infrastructure development corporation limited)

C) TO23ea® TWOR MYedeed @RS AN A0DWE (Rajiv Gandhi rural housing

corporation limited)

d) 20edT cdwyme ©Q (None of the above)

33. FINT TewINYY 03T RO3NT (Which of the following statement

is/are correct)

L =7

3 XSNYY BTFIBTT B eﬁfzsoo:bamol 2022-2309 Tw.3,04.474 éé
BReDATT 2023-240¢ 9.3% 033 wReOONR Tw.3,32,926 ©OHIRITRNT

(Per Capita Income of Karnataka at current prices is estimated to be



Rs.3,32,926 showing a rise of 9.3% during 2023-24, as against Rs.3,04,474

in 2022-23)

2. TRFTE Iow STROD (R.3,32,926) ©9DO TS 3w STRODIOS
(R.1,85,854) 79% wsesnd (Karnataka’s per capita income (Rs.3,32,926) is

higher than All India per capita income (Rs.1,85,854) by 79%)
a) 1 only

b) 2 only

¢) Both 1 and 2

d) Neither 1 nor 2

34. 3YNT TewIN$QY 03wy F003NT (Which of the following statement

is/are correct)

1. 2022-23 2.8 RYOD STOH Tere IO RGODY HonEed INT XY
RBRTO m@ﬁd@d (Bengaluru Urban District stood first in the total District

Income as well as per capita district income for the year 2022-23)

2. onieRDd AT 2P TNT SENYY ZOTRR 37.8% TR VeI

(Bengaluru Urban District contributes 37.8% to GSDP at current Prices)
a) 1 only
b) 2 only

¢) Both 1 and 2



d) Neither 1 nor 2

35. 85 FYNT OIPW Y TTOFEIT [PIXW VPR Q AR08-2022 TY ZRTOD
@chﬁb& BROQT (Which of the followind distric has last rank in Karnataka

human development Index-2022)
a) Oo00WRTV(Raichuru)

b) 2exo® (Bidar)

¢) oemnoO(Yadgiri)

d) 3oenon(kalaburagi)

36. 30T THWFFT TIVFWT Tvty MOmT 3G ARIOTHI) TFLIROTJYIH

(Karnatak state consumer price index for industrial labour is published by)
a) Oo% O3ReRTo WOBY (State Planing Board)
b) %m@a FoNET Qo3 (Department of industrial labour)

) SRFT NI WoIWOINY JWerITOH (The Directorate of Economics

& Statistics)

d) 0edT cdwyme @ (None of the above)



37. 2023-24 O 3Z0FE3T Do RFUFUT B3 FENT OIT SOMOID TTHET
30710 W), [N (Which of the following Tax is the main source

of indirect tax revenue to Karnataka state government in 2023-24)9

a) 0%y MOBO I zeso 30nR (State Goods and Service Tax)

b) TINE DT 30rinsd (Taxes on Vehicles)
c) Doty ©WTO (State Excise)

d) =0T 301 (Sales Tax)

38. BYNT OIE VTIEBTYN FTOrEdd, TROYTT VIREHETT FoW WY
SWmwaNTS? (For which of the Following purpus Karnatak, Rural Innovation

Fund created?)

a) /Y TROWT JeH W OHAR  FOTOZ Mmonerd  FReINFYN
DELA AT, TOTORWST canPrie s iy ¢vgeines (To promote any
start-ups, that solves problems in rural areas, including clean drinking

water and roads)

b) Mpseee FMPOINTY TSN, wwgeesred (To promote innovation in

rural industries)
€) TAONY ToNEFICNT), ¥vZeedxed (To promote innovation in Agriculture)

d) 30DIO FTWOINTYY ToNEIZIONT), WvZeedned (To promote innovation

in handicraft industries)



39. TRFWT WONLIAGD THT YRFHO WOFYOD TeT T30 AT
(The head quarter of Karnataka Bayaluseeme area development Board

located at)

a) 3©200N(Kalaburagi)
b) 2%90 (Ballary)

¢) gdonwrdd(Bangalaore)

d) ¥3zmons(Chitradurga)

40. 3TFIBTY B3 FINTPNYY P %zszod oty 2)¢3T0TTINTIVT?

(Which of the following is major consumer of elecricity in karnataka?)
a) ms’éué WEFRC (Commercial users)

b) g TWox® XeFnD (Agricultre pump sets)

) T3edEOD WPFHoT (Domestic users)

d) MSME m©o (MSME sector)

41. 33 3YBOBYNYY STwa dee® (Which of the following is the wrong

pair?)
a) TOBWIPON — TR BeAET (Rajasuya — coronation of the king)

b) @oxRTEOD — TPNY LT IJF (Vajpayee — Chariot race)



c) @%db@d — S0RROF0TN (Ashwameda - for Paramadikara)

d) Zwed — T BoTeTFN (Soutramani — for sons)

42. 3$NI FINTY RFYTH 503080 YOTDOTBIY Fod STORE
TOTORATI), dew3? (Which among the following places has given the

earliest evidence of agriculture in Indian Subcontinent?)
a) @5&2’\6 (Brahmagiri)

b) 380" (Chirand)

c) BTETFT® (Mehrgarh)

d) eNRFTBRERSE (Burzahom)

43. TR3eS LTBTY, AT, 0 TWY B3 TENT 03T, FOWoHAT? (In

ancient India, the term Nishka was related to which among the following?)
a) ¢3¢ (Crop)

b) 301 (Tax)

c) QEION (Currency)

d) 030w (Weapon)



44. 20T BESES TN0FZOD 0D FO &eNTS (In the Indus Valley

Civilization, the style of script is)

a) B¥Re3RFwR (Boustrophedon)
=

b) SROBOT (Mandarin)

c) @3% (Brahmi)

d) 0dwedy(Kharosti)

45. 333@663@’ 03T WOBOTY 'TB) TT FT 83FeNI? (The “Battlle

of Ten kings’ is depicted in which mandal of Rig Veda?)
a) seventh

b) ninth

c) eighth

d) tenth

46. 33 FYNTHTY 03P "FORRT'T Sed3T? (Who among the following

is writer of the ‘Kalpasutra’?)
a) Simuka
b) Panini

¢) Bhadrabahu



d) Patanjali

47. ©3ReTI SONOD W} [IDTTVWES 2WwOTIE 2,00 TVATNT. 84
FINTINYQ 0350z (There is only one Rock Edict in which Asoka talks

about taxation. Which among the following is that edict?)
a) 232 93T (Bhabru Inscription)

b) CodTREE FOL I9AS (Rampurva Pillar Inscription)
c) d@% 0% Fox Zo%S (Rummindei Pillar Inscription)

d) 20T MB ZoAI (Barabar Cave Inscription)

48. FIINTZYNYY CIPRYTI), T3 VR T FoSRT TOHTIOD
zonedxoons? (Which among the following is considered to be the

official law book of the Guptas?)

a) WA ;8 (Manusmriti)

b) T30 ﬁé »© (Parashara Smriti)

c) omgqu ﬁé o2 (Yajnavalkya Smriti)

d) méx %é »© (Vyasa Smriti)



49. 85 FINTHTQ O3 §P3T DITYTOT DR SR WTONT FOZ,0
TTR[IERNPTIOT TBWITROBT DO AT JETPRATT (Who among
the following first postulated that” All objects in the Physical Universe are

reducible to a finite number of atoms”?)
a) WBXE FL® (Maharishi Kapil)
b) T TTRE® (Maharishi Kanaad)
¢) WHOET =3%° (Maharish Vyas)

d) D:0ez* T302D (Maharishi Patanjali)

50. ¢PTT THFNESONT), VRTO 0N 03RE BRETY B 030 %@d@
ToEePoN? (In which year and at which place, India’s national anthem

was sung for the first time?)
a) 1911, Kolkata

b) 1911, Lucknow

c¢) 1911, Delhi

d) 1911, Bombay

51. 1931 BQ 2303020 TOXEOD TWORFS TS WRHESIT @qﬁgéo&@ol 33
FSNTND 03N? (Who among the following presided the Karachi session

of Indian National Congress in 19319)



a) Sardar Vallabhbhai Patel

b) Pandit Jawaharlal Nehru
c) Pandit Madan Mohan Malaviya

d) Dr. M A Ansar

52. 83 PN CINE QOTIOFTTOTD MROH—-VNE® a@ocﬁ@ T8 TOTSOONI?

(On which among the following dates, the Gandhi-Irwin Pact was signed?)
a) 5 March 1931

b) 6 March 1931

c) 7 March 1931

d) 8 March 1931

53. INTVTY CIPTY BTFRNVT TF° ST, W) JOWCWATT? (Who

among the following introduced the Vernacular Press Act?)
a) Sir Ashley Eden
b) Alexander John Arbuthnot

¢) Lord Lytton

d) Lord Stanley



54. 83 3YNT WLHTPODY, DTOF TROHONHT0 Gl TELTT: “ WREOTO
206 2N TR K 9T TR LRI T QeRWI” 9 (During which
among the following movement, Mahatma Gandhi remarked: “on bended

knees I asked for bread and received stone instead?)
a) DooPe® 3= (Khilafat Movement)
b) 9XZZT 3IY (Non-Cooperation Movement)

¢) ZWoR 5oEFs (Dandi March)

d) ¢T38 W) 3poN BEY (Quit India Movement)

55. 3t QOROID BFWPO TONFTTY WORALD WK ATOFT TWTOPAT
B0 BETHOD BHT—? (The name of the operation started by the

British Government to arrest the leaders of Quit India Movement was__9)
a) STTERT" 0¢0®T® Fear, (Operation Reander Paste)

b) sxBeHT® opednee ©=c® (Operation Zero Hour)

¢) STTRS Foworedeeey, (Operation Thunderbolt)

d) sTTeRT® 23R 7YO® (Operation Blue Star)



56. YN LREANYY TOOIRT BROTEEE AVOTFT SRF 2 (Which

of the following pairs does not have a correct match?)

a) RIVLOT R T3 - YR IR D (Equatorial circle region -

rainfall throughout the year)
b) AV, TS — 3eANoDY ¢ (Savanna region — rain in summer)

€) SNRWTEAOD" TT3eS — 3ANCDY WY (Mediterranean region -

drought in summer)

d) BT IReB - wWomUnY ¢ (Polar region — rain in winter)

57. 33920m38600 030w WOONTY L.23Re° TWT SEResRZa (Ozone layer

1s formed in which zone of atmosphere?)
a) BReBPIONT” (Troposphere)

b) TLREACHT® (Stratosphere)

c) ©ONZREAOT® (lonosphere)

d) QoeBrey0T®(Mesosphere)

58. NI 3083 1 (200TW) Ted 2 (TFD, WRW mé% NCTY) neeodn TO
BRODA TPNR FYT BRLWTVT FOFEINPOT FOOINT LVITIR), SONTHR.
(Match the following list 1 (port) with list 2 (main product exported) and

select the correct answer from the symbols given below.)



LIST-I LIST-11

A. 8250 (Tuticarin) | 1. To0lR0 TEFNSY (Condiments)

B. ESJ;D% (Mumbai) 2. g 20Ty (Iron Ore)
C. neeme (Goa) 3. Gompcek e neeonst (Chemical fertilizers)
D. i@-:’%ﬁ‘s (Cochin) 4. BOBOAT Feiredoho (Refined Petroleum)

59. TORECD NTRHDVBVY, VW3 ToRBRODN BLOVA WY TN ERLITOT
ROBEINPOT FOOIPT YVITIR), S0, B&. (Match the national park with

its state and select the correct answer from the symbols given below.)



Teey, (State) Todtod Wy FES (National Park)

AL Zoezmeeocdy (Meghalaya) 1. &= (Hemis)

B. gzm&lFow (Jharkhand) 2. 9%z e (Namdapa)

C. @timoe TEeT (Arunachal 3. eRERT ( Balsakram)
Pradesh)

D. ey ENSICN] ﬁé&fﬁ (Jammu and 4. 2220 i (Hazari Bagh)
Kashmir)

60. T3 -1 (THFE 3833 WRNFT) I B -2 (Teg i) B, BRODA.

(Match List-1 (Mountain Valley Routes) and List-2 (States).



Tty -1 Ty -2

A. B@von (Dihanga) l. &8¢ (Sikkim)

B. 2weron® (Khardung) | 2. B BN Er?a@&fﬁ (Jammu and Kashmir)

C. &&= » (Jelep Law) | 3. &o=mefer ©HeT (Himachal Pradesh)

D. @z (Dibsa) 4. omoEe THeT (Arunachal Pradesh)

61. B3 FYNI O30 ooz nogy 50@325053 U@%@Oﬁ) ww%msmsm& JRODT 9
(Which of the following states has the maximum number of national

parks?)

a) WOBTPT® Y JBRRT® (Andaman and Nicobar)

b) 9T FT3e3 (Arunachal Pradesh)

¢) ©390 (Assam)



d) 000D (Meghalaya)

62. BTFLWBTY FWNOMOT 3¢ FOT T (Monsoon is the time of crop

season in Karnataka)

a) PO 0T 2R (February to June)

b) QS* OB FFZowT® (April to September)

c) ©ERT’ 00T BFOWT® (October to December)

d) &BRT® ckow AZows® (June to September)

63. SO VTWRFF (VVT*) C3REBIONT)Y, FTENT 03PT IDOH Fded
RRgweNd? (On which of the following rivers has the Alamatti Power

Project been undertaken?)
a) 30oxw8 (Sharavati)

b) 39 (Kali)

¢) 503¢0 (Kaveri)

d) g3 (Krishna)

64. 033933 W0 e BT DT, BN, BRWT ATFF BROVT."

(Which type of soil has the capacity to hold more water.")



a) 30T e (Red soil)
b) 22oededrt ey (Soil for Zembittige)
c) 030 =R (Alluvial soil)

d) e =g (Clay soil)

65. FENT 00T TONTR) LPRTRIT TTITT WOSOWOT FYTIMOST ?

(Which of the following oceans is expanding due to movement of the

earth’s crust?)

a) J003%onT (Shanthasagara)

b) wipods® mnd (Atlantic Ocean)
¢) 83T ZNO (Arctic Ocean)

d) &0T» NToFNT (Indian Ocean)

66. TBITOLD IO WD ZBRIN FINT 03T SOOI YV YVTRTTES ?

(birds foot River Delta Which of the following rivers is a good example?)
a) ©0IY” (Amazon)

b) J&° (Nile)

c¢) nomo (Gange)

d) 22 (Mississippi)



67. HTTY HTTIe VIO0T WY WIROL, 9T L DowY (It is the second

most populous continent in the world)
a) B30 003 (South America)

b) c303Bwee® (Europe)

¢) Y83 ©00% (North America)

d) 87 (Africa)

68. TOT® TTVLRN {RTBT DT, ToBNFY ®ORT ? (Thar desert is spread

in how many states of India?)
a) l

b) 2

d) 4

69. 83 FINT CRFY FT0F GF WOoDT BB Fe0T FODFAYTTNTS ?
(Which of the following is the Zonal Headquarters of South Western

Railway Zone?)
a) @y (Hubli)

b) dongedd (Bangalore)



¢) WeRFFIOT (Vilaspur)

d) 63330?,% (Mumbeai)

70. ToRTIEBTLES VBTN 8500 »PT3? (Where is Ramdevarabetta

vulture bird sanctuary?)
a) cozoanT (Ramnagar)
b) 0&3RT® (Tumkur)
¢) 3reeed (Kolar)

d) 3227 (KGF)

7. BYTT BRI TPOD RO &3 2GoNY B0TWTZBI? (The origin

of the Hallikar Breed is found in this district)
a) po0x0% (Dharwad)

b) xS (Hassan)

c) QNONTT (Vijayapura)

d) nan (Gadag)

72. T3 LT el ¥pNaap) ﬁo;‘(ﬁfp QVR, (Indian Forest Research

Institute 1s located in)



a) ©38R¢ (Lucknow)
b) BREART (Dehradun)
¢) 530 (Kanpur)

d) Moomes (Guwahati)

73. BREINYZY QT WPRE TGS (Instrument that used for counting

cells)

a) %é&m@:e&cﬁ (Cytometer)
b) ZJeenewst” (Cyanometer)
c) 3o3eeee3t® (Cryometer)

d) TReT® (Cranimeter)

74.  TITT[IED MWZII, AT Fe3THY wgmzmmgcs (Nuclear size are

expressed in,)

a) P (Fermi)

b) SO -ZRFE (Angstrom)
c) SR (Newton)

d) €372 (Tesla)



75. BREBOD 2.0 BRS0DY N0y cmscﬁ mé&@oﬁa&;}l 33N

2

TOFIOIN BRCFOINTOT deTTLe TTWZT. BT OIPR)TIT,
VTOBOHBOSRNT? (When a bottle of perfume is opened in one corner of a

room the smell spread soon throughout the room. This is an example of)
a) O3V (Distribution)

b) 23TRTONF (Scattering)

¢) QWL (Fission)

d) Ixoee (Diffusion)

76. [T TBWZONT, 03WRITOOT LB[ORWIIT (Formation of shadows

can be explained by)

a) 233 865@3&5’ ©xoe (Rectilinear propagation of light)
b) T8FOS (Reflection)

c) @3e=s (Refraction)

d) et 0308 BEFOI (Total Internal Reflection)

77. HTW TIRWNG THOT ToDT TOLT OB, CRTYTIY WTWOORATIZT

(The direction of heat flow between two objects depends on)

a) RN go‘oémé (Their masses)



b) o= TEd (Atmosphere)

¢) ¥RNY FT=ex (Their temperatures)

d) PN TT, T VP WAV A (Whether they are in solid, liquid or

gaseous state)

78. MNSCIPINTI), LRTITOITZ, THLAT BRTO ATAN LRTYEOT FOT
030 ? (Which is the first private space company to send astronauts into

space?)

a) Blue Origin
b) Tesla

¢) SpaceX

d) Orbital

79. x?%agajedﬁ@mq RBRBIN 2 ADINEY-INN RATOHT 20T DYPNZIY
; =
&%eniED. (The branch of Botany which deals with orderly arrangements

of plants is called as,)
a) YONTWIPZOF (Anatomy)
b) ©NB08TZA (Genetics)

c) JRFTED Jox (Nomenclature)
=



d) BeQ Snessseozey (Taxonomy)

=

80. 2,00 TTIETF, TROBJYT TP TICTBTY v DTQT|. (A species is not

native to the area is called)

a) 20Fee (Exotic)

b) Tedecd (Indigenous)

c) we3Re30DT" 3¢ (Obnoxious Weed)

d) ciRxTRe ©L (None of the above)

8l. 3 1 ), DB Ted 20001 FOCIBN  BROVA — match the (list 1)

with the (list 2) Which they are observed:

1. Toed el ®,c3)0E3° (Carbohydrate) | a. @Jo;Te,LA* (Lactose)

2. D@3 (Protein) b. esz3y,:30e¢ €333y, (Amino acids)

3. OSTF (Lipid) C. PR TT, T (Monosaccharide)
4. B 7/0T0,cE (Disaccharide) d. e, a3, O, (Fat and Oil)

a) 1-¢, 2-b, 3-d, 4-a
b) 1-c, 2-b, 3-a, 4-d
¢) 1-b, 2-c, 3-d, 4-a

d) 1-b, 2-c, 3-a, 4-d



82. 3INBHNYE IRHE BRI, YWRBETH ©Y .(Which of the

following is not example for antibiotics).
a) %m@ﬁ (Nepheline)

b) ZRI%" (Penicillin)

¢) o3RS (Neomycin)

d) &tRR8s (Tetracycline)

83. BYNTPNTY 030R)T F0TWE BReNBY. (Which of the following is

not a communicable disease.)
a) 3F.0.0 (HLV)

b) gojad@eﬁ (T.B)

¢) Bed=® (Rabies)

d) eﬁegcov —-HT° (Alzheimer)

84. 0350w TOTLOOT FCEINTD DT =063 WNHNT BDFwTIW. (Insects

move on the water without sinking due to.)
a) T A 8 ﬁae%@b .83 (Hydrostatic up thrust)
b) 303de® FeSDRE (Dynamic lift)

¢) QO ﬁ:cez 3 N$E (Surface tension of water)



d) Qe03 moon g (Viscosity of water)

85. FINTYNYY 03T QF3ETBY. (Which of the following is not a

disaccharide)
a) Glucose
b) Sucrose
c) Lactose

d) Maltose

86. T3 1 D) ) T 280K FOIWN  TeOOA — match the (list 1)

with the (list 2) Which they are observed:

1. INAI €90 (Laughing gas) |a. RO (Fluorine)

2. 3R, 90 (Nobel gas) b.eDEE3e” (Methane)

3. JyANET 900 (Natural gas) | . dot)oDa3r*(Helium)

4. Doz eC20° (Halogen) d. 3,83 a°es7,,03° (Nitrous oxide)

a) 1-d, 2-c¢, 3-b, 4-a
b) 1-c, 2-b, 3-a, 4-d
c¢) 1-b, 2-c, 3-d, 4-a

d) 1-b, 2-c, 3-a, 4-d



87. FYNIPRYY IR CIVTERCHTT HOT/MEL 8AY .(Which of the

following is not a ore of uranium).
a) 32cSo®0 (Corundum)

b) o°F &8 (Carnotite)

c) &2 0@ (Pitch blende)

d) 20edT 2P (All of the above)

88. B3 TINIYNYY SRR §BT TIeNT” ¥Y. (Which of the following

1s not an artificial polymer.)
a) 338 W& (Artificial cloth)
b) Jeo® (Nylon)
c) &pAT (Plastic)

d) da?%c@ (Rubber)

89. 0Z T35y VRS -A0T SR [PRELORTLN $3ed 0oy (India

imported the missile from Israel. That is)
a) Rafale

b) Barak

c) BrahMos



d) Trident

90. &8 FINT 0INH BT R DTS fao@ejeia: 228030 FOO3PNY (The
following pairs of ‘Country and their external intelligence wing’ not

correctly matched)
a) India - RAW
b) Pakistan— ISI
¢) China - CII

d) USA- CIA

L. BWRTL-LO3CD FOAZONY, W& YIS B030N BIT AYSTYD
080D 75% VT TET FYSTBYTT ©0F0I SRTT FYSTYNT @08N0T |
TRFND. VR MWYIT Y IRTT MSTYS Wo3NY BT 13 SNFT,
SRTT m@ﬁd@d&ﬁ 908 03mI? (In a three-digit number, the unit’s
place is 75% of the digit in the tens place. The digit in the ten’s place is
greater than the digit in the hundred’s place by 1. If the sum of the digits in
the unit place and the hundreds place is 13, what is the hundred place

number?)

a. 7

b. 8



c. 6

d. Cannot be determined

92. 18-12+4+8 x2=9
a) 30
b) 31
c) 29

d) 32

93. 2:2) TOLD [PATT T, MEBITI), DT 0e30NY BRCT [IWTV.
OB G TITQ 10% DT, LITHTS 30F) T IS0, 10%
TPATYI. T 20 Jee30” 307G TOF, TS Aewdrie Twe. 20 T ITTY
DOOTWTVS. YT [ITL BIWFTBOOT LTAMOTIT 2Ed) g3 F)? (A
milkman cheats his customer in two ways. He mixes 10% water in pure
milk and increases the price of milk by 10%. He purchases 20 litres pure

milk at a cost of Rs.20 per litre. His total profit by selling it is,)
a) Rs .63

b) RS. 47

¢) Rs. 84



d) None of these

94. A, B, C 303 D Toe), ©03ne RREP) 110 8NT. C o8 A oD
DTBOWT. A DR D 1¢ B0y B &0 C 1Y mgg BIVTNT Tonwe A
0B BRY 90Tme8 3:5 SNT. THonesd xos:"gsmfo C3x)=)? (The sum of
four numbers A, B, C and D i1s 110. C is twice of A, sum of A and D is

equal to that of B and C. The ratio A: B is 3:5. The numbers are,)
a) 30, 15, 60, 80

b) 15, 25, 30, 40

c) 15, 25, 35, 45

d) None of these

95. TR IONEH TN 12 T 18 VRNTY 307 &Y BD0WWTIW.
RTW IONTY 2 ANRNE O 300D 80T mmsodxsmol Shod
BRTONT. TOMOTT 30T BOWED DT RNE 590 3e8d? (Two taps
can fill a tank in 12 and 18 min respectively. Both are kept open for 2 min
and then first is turned off. In How many minutes will the tank be filled?)
a) 15

b) 20

c) 1l



d) 13

96. 240 0eE30° Y 270 NELIT°T VT T DTE TN FBIR[OTT
ZONYY 2.08¢ HETY BIRMEI. 2,00 60 8.80¢ JeNTY B VBRET
By 48 8.20¢. VNTBYS. TOMOTT & FLONED LOTIHOTD T DT
B INRERNETES (Two trains 240 metres and 270 metres in length are
running towards each other on parallel lines, one at the rate of 60 kmph
and another at 48 kmph. How much time will they take to cross each

other?)

a) 17 sec
b) 20 sec
c¢) 30 sec

d) 15 sec

9

97. 2E3TO|W HOBONT), MOTOEA/Find the missing number 0, 1, 8, 27,

125

a) 36
b) 64
c) 100

d) 216



98. 2,0 Je$ N=14 202 NOT=4200, =zon NAME=? (If N=14 and

NOT=4200, then NAME=9)
a) 937
b) 822
c) 915

d) 910

99. A ™ B 90 FTFT ébdoc;p Al1) JTWORLD STORAITIT. ACSD 3
km Tone Bod® 4 km mordemch S08T A 203, 380N 4 km rdEsd ©Te
ATODTY B 030 I, @Cééé &N 3 km T, Tomomd QYT STOYT
LOTVNVOT FEVTN DT BRTTBYTOR[I? (A and B start walking in
opposite directions. A covers 3 km and B covers 4 km. Then, a turns right
and walks 4 km while B turns left and walks 3 km. How far is each from

the starting point?)
a) S km & 5 km
b) 3 km & 5 km
c) 4 km & 5 km

d) 3 km & 4 km



100. &¢ Y S0 TTF WHON BT W) S DO YT WTLTIYT.
3S0NTJT TITRIIY QOB ONTIYT. TG, OeLTTY, TTROTIPNTT &
DOTRRD TRT TONTANTRY, AR V) Tog BB, BT’ DI Oee
BT TFV. YVET 3B AT VI T 0B Tgw W=[T TV,
TOMOTT ARCVTRT VTIoe(surname) 09 (Mr and Mrs Sharma has
two children Asha and Shashi. Shashi has married to Radha who is
daughter of Mr Mahajan who is married to Reeta, Sonu and Rocky are the
children of Suresh and Reeta. Uma and Sudha are daughters of Shashi and

Radha. So What is the surname of Sonu?)
a) Mahajan

b) Sharma

¢) Shashi

d) None of the above



